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ANNUAL INTERMEDIATE EXAMINATION - 2024

COMPUTER SCIENCE
( Optional )

Total Time : 3 Hours 15 Minute Full Marks : 70
FAEAE: 3 W 15 QUi : 70

General Instructions / ¥ Sy ;

1. This Question Booklcl has two Parts — Part-A and Part-B.
34 v -YfT 8 8 ¥ — WW-A Y1 WALB 2|

2. Part-A is of MCQ Type having 25 marks and Part-B is of Subjcctive
Type having 45 marks. ~
wm-A 1 25 37 & Sgfiehedia 9 aY WE-B § 45 3% & fwafm wm d)

3. The candidate has to answer in the Answer Booklet which will be

provided separately.

glianef] @) 31 A IqEY FUS T IW-YEH H I AT 2

4. Part-A — There are 25 Multiple Choice Questions having four (4)
options ( A, B, C & D). The candidate has to write the correct option
in the Answer Booklet. All questions arc compulsory. Each qucstion

carries 1 mark. There is no negative marking for wrong answer.
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WM-A — 3 25 Fgfusedin v € B 4 fawe (A, B, c A D) §

whenedl i SRy d W I Rren 1w ww st 1 v v

1 3% F 81 7oA IW H o o 3% e T8 Jem|

i

Part-B — There arc three scetions ° Section-A, B & C.

This part is of Subjcctive Type having Verv Short Answer, Short
Answer & Long Answer Type questions. Total number of questions

is 23.

Section-A — Quecstion Nos. 26-34 arc Very Short Answer Type.

Answer any 7 questions. Each question carries

1 mark.

Section-B — Qucesuon Nos. 35-42 are Short Answer Type. Answer
any 6 questions, Each question carries 3 marks.

Answer the questions in maximum 150 words cach.

Section-C — Question Nos. 43-48 are lLong Answer Type. Answer
any 4 questions. Each question carries 5 marks.

Answer the questions in maximum 250 words cach.,
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WF-B — 38 uW 3 4 @z — @uz-A, B A C 31 38 wm ° Jfa &

IR, @Y I aw §9 3aia wen F fawafe wa ) A g b oden

23 21

WUE-A  — WA TEN 26-34 3 @y 9@ & A 7 WA & I3
Tedeh U 1 3 1 &1

WUe-B — WA T 35-42 @ 303 21 fRE 6 v % IW 2
Ui U 3 37 $1 8l YRIE T H IW TS RUhdd
150 Y11 1 2

GUE.C  — I3 GG 43-48 <@ Iau B R 4 i & I L) v

Y/ 5 3% & 2l YdH YW FH IW TAF  Afiwan

250 W&l | ¢l

6. Candidates are required Lo answer in their own words as far as

practicable.

whiamefi qumEse e w5 € IW 2
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7. Candidate has to hand over his/her Answer Booklet to the

Invigilator compulsorily before leaving the examination hall.
genel wlien wam pigd & uge o Iw-giewr Hew & HHaE T @

wierd |

8. Candidates can take away the Question Booklet after completion of

the Examination.

g{ien wR €A % 3uga wlenolf yeA-qfGn 39 w1y Aat e B
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Part-A
qr-A
( Multiple Choice Type Questions )
( agfawedm 9 )

Question Nos. 1 1o 25 are Multiple Choice Type. Each question has four
options. Sclect the correct option and write it in the Answer Sheet. Each

question carries 1 mark. 1225=25

TR @ 1 8 25 a% TgAFEE THEN 2 IS I % 9N famey 21w fawe

TR I YfEe ) TEF T 1 35S w R

1.  Whois the developer of C++ ?

(A) von Neumann {B) Dennis M. Ritchie
(C) ‘Charles Babbage Mme Stroustrup
TLV(XI1)-47077 XSC-CMS-(OPT.)-SC
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C++ & fuwmmai sl 2 2

A :Eﬂ (B) %?m @, 5]
(€) = S3w (D) ST TET
The smallest individual unit in a p@gram is called

(A) Token (B) Language

-}C]/ Data | {D) Nonc of these

frelt W ) wEd B0 IRETE IR FEoT B
(A) oA B
) =T (D) A S G

TLV(XT)-47077 . XSCCMS{OPT.)sC 6 / 31
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String terminator character is

(A) "\t

_@ o

(A) T\t

(C} "\o

A}

(D)

(B)

(D)

O\\' L)

None of these

v

= | 1 T

In C++ cin, cout, cerr are pre-defined stream

(A) Operator
h_(Q,,«JE.B;’oji:'c't

C++ 1 cin, cout, c::rr‘{é gfonfia fem

(A)  ATHA

(C) SR

TLV(XI11)-47077

(B)

(D)

(B)

(D)

Function

None of these

GEeE

7 A+ TE
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S. Rclational opcrators are
A s /s B) & & 1,1
© 2,: D) <>, <=, 5, 25, 1 =
A +- /, » (B) &&, Il 1
c ?,: (D) <, >, <=, 5= 2= 1=

6. Evaluation of x=++y*5 (ify=10) is
(A) 50 ' (B) S
(C) 10 (D)  None of these
x=++y*5 H WA (IR y=10)2
(A) SO | (B) S5

(C) 10 (D) AW

TLV(XI1)-47077 XSC-CMS-(OPT.)-SC 8/ 3l
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7.  do-while loop checks condition on
(A)  Top (B)  Left
(C) /-éﬂtlﬂm | (D) None of these
ECAEC I I W feufa 6 S= w5 2
(A) <M (B) AR
(C) @A (D) %M & & T
8. Wrappir.ug up of data and functions into a single unit is called
(A) Inheritancc (B). Pelymorphism
Q) Ancapsu]ﬁtion | (D) None of these
221 3 GowH F TH TR H N . HEAE 2
(A) FRRE (B) wifemiReeH
- © ST | (D) T4 A FE TG
[TLvixn)-47077] XSC-CMS-(OPT.)-SC
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9. Which of the following correctly dcclares an object of a class ?
(A) Class student ; (B) Student ob;

yudent S| ] (D) Nonc of these

= 3§ A 17 e 7o % wieee 1 T T @ Gifa w2
(A) Class studcent ; (B) Student ob
(C) StudentS| ] (D) W @ HIE TE

10,  Static member function is invoked by using the

(A) Class name | (B)  Object name

M@t'opcmmr (D)  None of these

TLV(X0)-47077 XSC-CMS-(OPT.)-SC 10/ 31
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T Wfew I SavE &) . =1 I FE e a1 e g
(A) oTTH AW (B) 3fisiaR ™
(C) ke AR D) T & i L

An inline function is

(A) declared and defined insidc the class
(B) prefix with keyword inline

(C) called at compile time

(D) none of these

(A) FATE ¥ o Oifa 3 gfonfa fern s R
(B) S A F WY Iuar R ww @

(C) EITSE T Hic foha STl R

D) T A FE T

TLV(XII1)-47077 XSC-CMS-(OPT.)-SC
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12, Function overloading implements the .. concept of OOPs,
(A)  Polymorphism (13) Inheritance
(C) /f\'gstraclion (D) None of these
HETH SN 00Ps & ........... FAYRT ) T R R
(A)  dilemifwey B) %eldy
(C) USLHH (D) T A RS

13.  In public inheritance, a public data member of the base class will

be (reated in a derived class as

(A)  Public }”/ Private
(C)  Protected (D) None of these

TLV(X11)-47077 XSC-CMS-(OPT.).SC 12 / 3
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W%%W%ﬁiaﬁéamm%uﬁmgmmw%m@mm'

.............. HeR % ¥ § qE e
(A)  of=F= , (B) v
) wRwe (D) ¥ A w1 T

14.  The chain depicting the derivation of a class from multiple basc

classes is called

(A) Containership (B) Inheritance graph
._/
(C) Inheritance path (D) None of these

----------

FEerd 2l
@A) e (B) ¥R us
(C) Feiea nY (D) T A FE T

TLV(X11)-47077 XSC-CMS-(OPT.)-SC 13 / 31
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15.  The allocation of memory at run time is referred to as
(A) Static Mcmory Allocation
B} Dvrnamic Mcemory Allocation
(C)  Compute Memory Allocation

(D} None of these

T 158 TR F AEEHA Bl ... % ¥ 1 wehia e 9@ 2

O e i

(A)  RiTH T TSR (B) SRAfis A9 TEHI
(C) 2 "R TETHIH (O) w8 A 9 T
16. A pointer variable declaration is done as
~1A) datatype * variable; (B)

* datatype variable;

(C) datatype variable *; (D)  none of these

TLV(X1)-47077 XSC-CMS-(OPT.)-SC

14 / 31



JAC cMS

Science/Commerce

UF GrEel ARuad Hiamn 9% § BT 2

(A) datatype * variablc; (B) . * datatype variable;

(C) datatype variable *; (D) 30 | HI8 T

17. Elements that can be added or removed at both ends are called

(A)  Straight qucuc MQuc

(C) Circular qucuc (D) None of these

21 Rl W el 1 |91 91 g Wi 7, fom

(A) ®RH B) f-w
(C) WERH (D) ¥ & 3
TLV(XH)-47077 XSC-CMS-(OPT.)-SC
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18.  Which hecader filc is rcquired for creating and manipulating dat,

files in C++ ?

__(Ab—"stringh (B) math.h

(C) fstream.h (D)  None of these

Cr+ 20 wIEl B R 3R R T H R BT IR

JTTH R ?
(A)  stringh (B) math.h
(C) fstream.h (D) ¥4 A #iE 78

19. Number of tuples in a relation is calleq

(A} Degrec (B) _ Cardinality
(C) Attribute (D) None of these.
TLV(XIN)-47077 XSC-CMS-(0PT.)-sC
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@) Tl @)  wifdafed
) e D) T A g T

20. Sect of possible values that an attribute can have, is called

(A) Tuple (B) ~ Domain
(C) Column . (D} None of these
"--.-.--/. -

e el @ Az ) Bl uRege A A waE R, wEew @

(A) TuH (B) oW1

(C) HIaw (D)  TH A B TE

[rLvixm:47077 ] XSC-CMS-(OPT.}-5C ' 781
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Which of the following is not a data manipulation languag,

command ?

(A)  INSERT (B) DELETE
)~ UPDATE. | 4B comhawr
ﬁﬂfﬁ%ﬁﬁﬁﬁ—m%ﬂﬂgﬁmﬁéﬁ%qﬁg ?
o B) fofie

€ s (D) *he

The Dual of the Boolean Expression AB + A'B+1is

(A) (A+B)(A'+B)+0

M+B}(A'+B]_.o

€ (A"+B')(A+B')+0

(D) None of these

TLV(XH)-47077

XSC-CMS-(OPT.)-sC 18-/ 31



[JAC]

CMS

Lo Hfeafs AB+ A'B+ 1 =g b
(A)  (A+B)(A" +B)+0

B) (A+B)(A +B).0

C) (A" +B}(A+B})+0

(D} 8 § ®is T

23. Maxtcrm designation of X+Y +Z+W is
(A) M, ,{{1 m,

) m,— (D) None of these

X+Y+Z+W wﬂﬂzﬁ_m 2

(A) M (B) my
(C) m, ' . (D) 5:‘{1 'é iﬁﬁ qﬁ
TLV(XI)-47077 XSC-CMS-(OPT.)-SC
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24, A location on 2 net server is catlied a

(A)  Web Browser ‘ (B} Telnet
¥,ﬂ:'ﬂ}"’/''\F\—-’:L;‘osiu:' (D} None of these

RER A OEm D L 8 I

A) I FIIR (B) IR

(€ s=mw @) 3PS

b
w

The data transmission rate is measured in

(A}  Metre (B) Baud
(C)_—~Amplitude (D)  None of these
3 TR WH ..o q W9 ST 8

A) TR (B8) s

(C) U=hies D) A ST

TLV(XIN)-47077 XSC-CMS-(OPT.)-SC 20 / 31
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H{1I1-B
( Subjective Type )
(fawatis wem )
Section - A
@ us - A.
( Very short answe;- type questions )
( afa w1y Ida wes )

Answer any seven questions,

=l uma 3 & I S
36./ Define Literal.
forere &1 qfonfa =1
[TLvix1)-47077 XSC-CMS-(OPT.)-SC
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27.  What will be the sizes of the following constants ?
a) "U\a" b) "JAC-2024""
a)  "U\a" b)  "JAC-2024"

ti} What data tvpes should you use 1o represent the following items 2

a)  The average marks in the class
b}  The number of cmployccs; in an organization.
fmﬁr&aanﬁﬁmﬁ%faquaﬁéam’ﬁwmniﬁﬁ?
a) & d almd s

b) sl amea § wderhal 6 b

39/What 1S structure ?

WHFE R ?

{TLV(xX11)-47077 XS8C-CMS-(OPT.)-8C 22 / 31
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30. Evaluate the following cxprcssions :
a) F=a+b/g[whcrca-5,b=3)
b) F=(a++)*d+4(wherea=10,d=5)
Wf@ﬂﬁﬁﬁ-ﬁ%ﬂﬂaﬂﬁ:
a) F=a+bja(Fda=5b=3)
b) F=(a++)*d+4(Fea=10,d=5)
_:y// “What do you mcan by Abstraction ?
TeHaTA & w1 WA R ?

p
32/ Write any two advantages of e-mail.

e-mail % gl @ el =1 ford|

TLV(X11)-47077 XSC-CMS-(OPT.)-8C
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lExpand the following @ |
al  SIM b)  HTTP
Rreffen = R & :
al]  SIM b) -HTTP
Section - B
s - B

{ Short answer type questions )
(FgIniauw )
Answer any siv questions. Answer the questions in a maximum

of 150 words cach. 3x6 =18
54 ©: 7 & IW 3 TS ¥\ W IW Awaw 150 w=) A T

Define polymorphism. Give an example to show its implementation

in C++,

gifemifes w1 gfowfia i C++ H 39% wRi=E B REn $ fin

I G

TLV(X11)-47077 XSC-CMS-{OPT.)-SC 24 / 31
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%l}/ What are the advantages and disadvantages of inline function ?

T R % s S g .
M hat are the advantages offered by inheritance ?
Feled g e s amet o+ § 2
3& What is constructor ? Explain with the help of an example.
R T} 2 T TR A T

39. Evaluate the following postfix expression using a stack and show

the contents of stack after execution of each operation :
120, 45, 20, +, 25, 15, -, +, »

W& &1 93 =& Fafofgs el e 1 o w5t 3R @

A F 9 R & gnefl gand

120, 45, 20, +, 25, 15, -, +, » :

TLV(XII)-47077 XSC-CMS-(OPT.)-SC 25 / 31
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:ryWhat is relation ? What is the difference between tuple and an

attribute ?
fooroa &0 2 2 mam@a@ﬁmw%?
41. Draw a logic circuit diagram for the following expression :
Y=AB-BC=+CA
Fretffian it & fore s i wfife st =
Y=AB + BC+CA

42. What are the various levels of data abstraction in a databasc

system ? Explain.

e fen 1§ Yo Tedew S b wm T # 2wy

TLVIXII]-4707ﬂ
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Section - C
|Ug -C
( Long answer type questions )
(€ 3w 9 )

Answer any four questions. Answer the questions in a maximum

of 250 words each. Sx4 =20

rﬂ“mg'wgﬁ%mélmmmmaﬁmzsowﬂﬁil

43. Define a class student with the following specifications :
Private Members :
Roll_né Integer
Name 20 characters
Class 8 characters
Marks { 4 | Integer
Percentage Float
[TLV(xm)-47077 | XSC-CMS-(OPT.)-SC
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Public members :

Read Data () - a function that reads Roll_no, name, class ang

marks of 4 subjects of a student.

Calculate ( ) - a function that calculates overall percentage of

marks.

Displav ( ) - a function that prints the contenis of all data

members.

i Nete : Write a complete program |

~ -

AeafEn SRTEEs S Y T =9 student S SRR S

- s
PR TA

Roll_no | Integer

Name 20 characters
Class 8 characters
Marks | 4 | integer
Perccntage loat

Eﬂﬁ_ﬂiﬂ_—m XSC-CMS-(OPT.)-SC | 28 / 3
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gfsttss ol .

. e = 3 25 i

Read Data () - W %a3vR 3 Rl o o & Q@ _dat, 4, #4440
4 faegl & 3% = g 2

Calculate () - U SR A 31 3 wuy g 6 oA F@ R

Display ( ) - T %awA o) ) 321 wewdl 6w A fife & 2

| Roqef} : we q0 whm ferd )

\V a) What is sorting ?

b) Write an algorithm to sort the contents of an array using
bubble sort method.

a) TWifMEFR?

b

Taat ai faft 7 3om h fRl R K wmht | AR @ S fae
T Teniiem ford |

is./Diﬂ'crcntiaLc between Static and Dynamic allocation of memory by

giving suitable cxample.

39 IqE o A & fRR i vl e & e st

TLV(X11)-47077
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46. a)  What is Karnaugh map ?
bj Simplify the following expressions using K-map.
F(A, B, c D)~ ¥10.2,4,5.6,7.8,10,13,15]
a)  wiats &y em @ »
b  K-map ® @ &tk fAafafus @t & A0 0 mehe =
WH F .
F(A B, C D)= ¥(024,56,7.8,10,13,15]

7/
3/ What do you mcan by Topology ? What are the most popular
topologics ? Explain,
TR R W T wagd § 2 wun eafon drieih @3 - F o
AR |
48. . a) Define the following terms :
~.
i) Computer virus

ii) World wide web.

b)  What is modem ? What is its function ?

(TLV(X11)-47077 XSC-CMS-(OPT.)-8C 30 / 3
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a) Fofafes w2 ) swen & .

i) S 9EE
i) 93 9132 Q4|

by WEATNR? FHFE R 2
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